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Ideals for irreducible component#ﬂ)f Xpar

I = (W —u® 4+ 2u—1)

* 1 irreducible components of dim¢ = 0, with total 51 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I*=(u —u®+... 4+ 2u—1)

(i) Arc colorings

= (3)

0
a7 = u
1
as = _u2
u
ag = U
Wt ut+1
a4: U4
uw?+1
a1: 77,[/4
—u" —2ud — 2u3
ag = \u’ +u" +ub+u
w'? + 300 + 508 +4uS + 2ut +u? +1
a12 = \ —yM — 212 — 310 — 248 — 208 — 20t — /2
u?® +6u? + -+ 2ud+u
ag = _u27_5u25+._._u3_~_u
—u*? —10u* + - — 8ud — 3u?
ayp = ut® 4+ 9ut 4+ — w4 u
u® +9u 4 —3ut +1
a5 = \ 0 4+ 8u38 + .- 4 6wl + 2u?

—u?? —5u?0 .. —3ut + 1
ail =

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u®® — 4u*® + ... + 4u — 14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! bt 2300 4 4 2u -1
Ca,C7 w4+t e 2u 41
3 ul — w4+ —du 41
C4,Cs5,C9 u51_’_u50+_._+4u+1
€10, C11
Ce u? + 00 + .-+ 45960 + 2061
c8, C12 uPt + 500 4 260+ 7




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y+ 11y + -+ 26y — 1
2,07 Yl +23y°0 + 2y —1
C3 y51_y50+_._+50y_1
C4,Cs5,Co P67y 4 2y —1
€10, C11
Ce y°l 4+ 27y°0 + .- — 54758682y — 4247721
cs, C12 yPt +43y°0 + ... — 1634y — 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.124050 + 1.0078201

—1.22807 — 1.231281

—11.11038 - 4.314371

IS

0.124050 — 1.0078201

—1.22807 + 1.231281

—11.11038 — 4.314371

<

—0.567657 4 0.7943301

13.08480 — 2.279331

0.58371 + 3.399971

~
IS

—0.567657 — 0.7943301

13.08480 + 2.279331

0.58371 — 3.399971

0.491070 + 0.7963471

3.39837 4 2.060941

0.34753 — 4.064731

0.491070 — 0.7963471

3.39837 — 2.060941

0.34753 4 4.064731

= —0.764672 + 0.5360541

18.2452 — 4.10321

1.95310 + 2.723181

—0.764672 — 0.5360541

18.2452 + 4.10321

1.95310 — 2.723181

—0.275626 + 0.8859761

—0.65991 — 1.257401

—7.37275 + 5.168211

—0.275626 — 0.8859761

0.65991 + 1.257401

—7.37275 — 5.168211

—0.095918 4- 1.0799801

2.64743 + 3.723331

—5.51914 — 4.106321

IS RS ESE R B -~ E~

—0.095918 — 1.0799801

2.64743 — 3.723331

—5.51914 + 4.106321

~
IS

0.748117 + 0.5194571

8.20876 + 2.786991

1.43171 — 3.738961

0.748117 — 0.5194571

8.20876 — 2.786991

1.43171 + 3.738961

0.796612 + 0.4372921

17.6940 — 7.16251

1.28660 + 3.00306.1

0.796612 — 0.4372921

17.6940 + 7.16251

1.28660 — 3.003061

—0.778283 4 0.4404191

7.77323 + 5.659591

0.63336 — 4.310141

—0.778283 — 0.4404191

7.77323 — 5.659591

0.63336 + 4.310141

—0.371193 4 1.0439201

—1.29263 — 0.955771

—8.94786 — 0.464721

—0.371193 — 1.0439201

1.29263 + 0.955771

—8.94786 + 0.464721

IS RS ESE R B A~

0.091632 + 1.1135701

12.41680 — 5.092301

—4.77006 + 2.623051

~
IS

0.091632 — 1.1135701

12.41680 + 5.092301

—4.77006 — 2.623051

—0.730042 4 0.4836251

3.79742 — 0.311181

—2.99375 + 3.595531

= —0.730042 — 0.4836251

3.79742 4- 0.311181

—2.99375 — 3.595531

0.748991 + 0.4492031

3.60271 — 2.923641

—3.83628 + 4.178521

0.748991 — 0.4492031

3.60271 4 2.923641

—3.83628 — 4.178521

0.330853 + 1.0870201

7.29518 + 0.30876.1

—8.00000 — 0.780251

0.330853 — 1.0870201

7.29518 — 0.308761

—8.00000 + 0.780251

0.431459 + 1.0587701

—3.31703 + 3.418471

—14.6084 — 5.26381

IS RS ESE R B A~

0.431459 — 1.0587701

—3.31703 — 3.418471

—14.6084 + 5.26381




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —0.471802 4 1.0759601

—0.59913 — 5.951661

—8.00000 + 8.504991

u = —0.471802 — 1.0759601

—0.59913 + 5.951661

—8.00000 — 8.504991

u=0.490778 4 1.1007301

8.34808 + 7.027981

—8.00000 — 6.500511

u= 0.490778 —1.1007301

8.34808 — 7.027981

—8.00000 + 6.500511

u = 0.614197 + 1.0470401 6.63961 + 2.388831 0
u = 0.614197 — 1.0470401 6.63961 — 2.388831 0
u = —0.629234 4 1.0424001 16.7365 — 1.16891 0
u = —0.629234 — 1.0424001 16.7365 + 1.16891 0
u = —0.595770 + 1.0634001 2.07756 — 4.753651 | —8.00000 4 0.1

u = —0.595770 — 1.0634001 2.07756 4+ 4.753651 | —8.00000 + 0.1

u= 0.597475 4+ 1.0827801 1.72685 + 8.040711 0
u= 0.597475 — 1.0827801 1.72685 — 8.040711 0
u = —0.606769 + 1.0940701 5.83091 — 10.882901 0
u = —0.606769 — 1.0940701 5.83091 + 10.882901 0
u = 0.613048 +1.1011107 15.7156 + 12.45551 0
u= 0.613048 —1.1011101 15.7156 — 12.45551 0

u = 0.638692 4 0.1952381

10.86370 — 2.727581

—2.02598 + 2.696701

u= 0.638692 — 0.1952381

10.86370 + 2.727581

—2.02598 — 2.696701

u = —0.546991 + 0.1807011

1.78156 + 1.951781

—2.96735 — 4.577851

u = —0.546991 — 0.1807011

1.78156 — 1.951781

—2.96735 + 4.577851

u= 0433964

—0.812863

—12.4030




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1 uP +23u%0 4 2u— 1
Co,C7 U51+U50+"’+2U+1
C3 WP — w0 Ayt 1
Cy4,Cs,C9 u51—|—u50+--~+4u—|—1
€10, €11
Ce wPt + w0 + -+ 45961 + 2061
Cg,C12 U51+5U50+"'+26U+7




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 Yo+ 11y + -+ 26y — 1
c2,C7 Pl +2350 +. 42y —1
€3 Yol =y 4 50y — 1
C4,C5,C9 y51+67y50++2y—1
€10, C11
Co yPl 4+ 27y°0 + ... — 54758682y — 4247721
c8, €12 Yol +43y%0 - — 1634y — 49




